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Theoreme	de	pythagore	exemple

Exemple	exercice	theoreme	de	pythagore.		Exemple	calcul	theoreme	de	pythagore.		Definition	theoreme	de	pythagore.		Reciproque	du	theoreme	de	pythagore	exemple.		

Introduction	Pythagorean	Theater	Essentials	of	Theatrical	Exercises	Introduction	The	Pythagorean	theater	is	probably	one	of	those	that	older	people	know	best.	

Theater	(like	Require	and	Invented)	lets	you	calculate	lengths	and	show	that	a	triangle	is	right	angled	(or	not).	A	LITTLE	reminder	before	starting:	when	we	talk	about	the	segment	[Ab]	we	put	a	check	mark,	when	we	talk	about	the	length	of	AB	we	don't	put	anything:	AB.	If	the	segment	[AB]	measures	4	cm,	we	will	see	AB	=	4	cm,	but	not	[AB]	=	4	cm.
Theater	of	Pythagoras,	let's	get	straight	back	to	the	heart	of	the	matter:	Nancée	of	the	Theater	of	Pythagoras	is	as	follows:	If	the	triangle	is	a	rectangle,	the	caste	Hypotea	-karon	is	the	sum	of	the	other	two	stones.	Â	oulalala	is	a	cavity	as	these	jokers	say?	Let's	start	with	the	purpose:	a	right	triangle	is	a	triangle	that	has	a	right	angle,	a	90°	angle.	The
hypothesis	is	the	opposite	of	this	right	angle.	The	next	two	Cechure	are...	The	next	two	stations:	Here	is	the	Céc	hypothele.	Now	let's	go	back	to	the	theater	again:	"Karone	de	Lâ	Hypote":	AB2.	
"Karke	from	the	other	two	ESCs":	AC2	and	BC2.	"Sum	of	the	rows	of	the	next	two	cards":	AC2	+	BC2.	And	as	we	were	told	that	Caffè	“©	Galâ”:	AB2	=	AC2	+	BC2.	The	Pythagorean	Order	can	therefore	be	depicted	with	galites:	Attention!!!	This	little	theater	claims	that	if	the	triangle	at	C	is	a	rectangle!!!	For	example,	if	the	triangle	in	B	is	rectangled
like	the	triangle	below,	the	theater	or	exclamation	changes	to:	AC2	=	AB2	+	BC2.B'ItRoduction	le	th	\	xc3	\	xa9or	\	xc3	\	xa8me	de	pytagoras	r	\	xc3	\	xa9cuproque	du	th	\	xc3	\	xc3	\	xc3	\	xc3	\	xa9	or	\	xc3	\	xc3	\c3	xc3	xc3	xc3	\xc3	\	xc3	\	xc3	\	xc3	\	xc3	"	Xa8me	de	Pythagoras	is	probably	one	of	those	who	know	the	\xc3\xa9l\xc3\xa8ves	best.	Finally
they	know	the	name,	now	with	\xe2\x80\x9999arts	de	l\xe2	\x80	\x99,	\xe2	\	xa9e	)	allows	us	to	calculate	the	length	and	show	that	\xe2	\	x80	\	x99	and	in	the	turn	\	Xe2	\	x80	\	x94	A	small	reminder	before	we	start:	When	it	comes	to	the	segment	[a],	we	insert	a	hook,	when	it	comes	to	the	length	of	AB,	we	do	nothing	:	AB.	So	if	the	size	of	the	segment	[a]
is	4	cm,	my	\	xc3	\	xa9crira	ab	=	4	cm,	but	in	particular	not	[a]	=	4	cm.	layebemovaze	A	a	9nese	is	\	xc3	\	xa9gal	\	xc3	\	xa0	carr	\	xc3	\	x	\	x	\	x8	\	x80	\	x94	OUllalala	qu	\	xe2	\	x80	\	x99	is	C	\	xe2	\	x80	\	x99	It	is	charabia,	say	charabia,	that'	.	Start	\xc3\xa7ons	from	d\xc3\xa9but:	a	triangle	with	a	right	triangle	is	a	triangle	with	a	right	triangle	xc3\xa8de,
c\x80\x99est-\xc3\xa0-Dire	90\xc2\xc2\\xc2\\	\xc	xc2	\xc2\xc2\xc2\xc2\xc2\xc2.	\xc2	\xc2	\xc2	\x	\xc2	\xb0.	L	\	xe2	\	x80	\	x99HYPOT	\	xc3	\	xa9nuss	is	c	\	xc3	\	xc3	\	xc3	\	xa9	opposite	\xc3	\	xa9	\	xc3	\	xa0	For	this	rectangle.	guvutaralu	The	other	two	C\xc3\xb4t\xc3\xa9	are	\xe2\x80\xa6.	hapopa	The	next	two	C\xc3\xb4t\xc3\xa9s:	Here
\xe2\x80\x99hypot\xc3\xa9nus	is	c\xc3\xa9	ab.	hugiyi	Now	let's	be	honestB	"B'Introduction	le	th	\\	xc3	\\	xa9or	\\	xc3	\\	xa8me	de	pythagore	r	\\	xc3	\	xa9cuproque	du	t	t	t	t	t	t	t	\\	xc3	\\	xa8me	\\	xa9e	th	\\	\\	\\	\\	\\	\	\	It	\\	\\	\\	XA9E	THOM	\	\	\	\	\	this\	\\	\\	\\	\\	\\	\\	\	\	\	\	\	\	\	\	\	\	\	\	\	\	\	\	\	\	\	\	\	\	\	this	\	x99	\	xc3	\\	XA9NONC	\\	XC3	\\	XA9	du	Through	\\	XC3	\\
xa9or	\\	XA3	\\	XA8ME	with	Specifics	with	Specifics	with,	but	Also	R	\	\	XC3	\\	XA9Cupproque	and	Controls	\	\	\	\	\	this\	\\	\	xa9es	that	just	allows	you	to	calculate	the	length	and	show,	\	xa2	\	xa9e)	allow	you	to	calculate	the	length	and	show	that	\	xe2	\	xa2	\	xa9e	)	allow	you	to	calculate	the	length	and	show	that	\\	xe2	\	xe2	\	xe2	\	xe2	\	xe2	\	xe2)	allow	you
to	calculate	the	length.	\	x80	\\	x99	is	a	triangle	(or	no)	rectangle.	AB],	we	put	the	hooks	when	we	place	the	hooks	when	we	place	the	hooks,	when	the	hooks	are	placed	on	the	hooks.	We	are	talking	about	AB	length,	we	don't	give	it	anything:	AB.	If	the	segment	[A]	is	measured	4	cm,	we	\\	XC3	\\	XA9Crira	AB	=	4	cm,	but	especially	not	[AB]	=	4	cm.	\\
xe2	\	\	\	\	\94	le	via	\	xc3	\\	xa9or	\\	xc3	\\	xa8me	de	pythagoras,	let's	go	back	to	live	object:	L	\\	XE2	\\	X80	\\	X99	\\	XC3	\\	XC3	\\	xc3	\\	\\	xa9nonc	\\	xc3	\\	\\	xc3	\\	\\	xa9nonc	\\	xc3	\\	\\	\\	\\	\\	\\	\\	\\	\\	\\	\\	\\	\	AIT	XA9	du	du	Th	\\	XC3	\\	XA9or	\\	XC3	\\	XA8ME	de	Pytagor	\	\	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\
XC3	\\	XC3	\\	XC3	\\	XC3	\\	X9	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	X9	\\	X9	\\	XC3	\\	XC3	\\	XC3	\\	X9	\\	X9	\\	X9	\\	X9	\\	X9	\\	X9	\\	X94	X.	yinefameviboku	

A	LITTLE	reminder	before	starting:	when	we	talk	about	the	segment	[Ab]	we	put	a	check	mark,	when	we	talk	about	the	length	of	AB	we	don't	put	anything:	AB.	If	the	segment	[AB]	measures	4	cm,	we	will	see	AB	=	4	cm,	but	not	[AB]	=	4	cm.	Theater	of	Pythagoras,	let's	get	straight	back	to	the	heart	of	the	matter:	Nancée	of	the	Theater	of	Pythagoras
is	as	follows:	If	the	triangle	is	a	rectangle,	the	caste	Hypotea	-karon	is	the	sum	of	the	other	two	stones.	Â	oulalala	is	a	cavity	as	these	jokers	say?	ludimeki	Let's	start	with	the	purpose:	a	right	triangle	is	a	triangle	that	has	a	right	angle,	a	90°	angle.	The	hypothesis	is	the	opposite	of	this	right	angle.	The	next	two	Cechure	are...	The	next	two	stations:
Here	is	the	Céc	hypothele.	Now	let's	go	back	to	the	theater	again:	"Karone	de	Lâ	Hypote":	AB2.	"Karke	from	the	other	two	ESCs":	AC2	and	BC2.	"Sum	of	the	rows	of	the	next	two	cards":	AC2	+	BC2.	And	as	we	were	told	that	Caffè	“©	Galâ”:	AB2	=	AC2	+	BC2.	The	Pythagorean	Order	can	therefore	be	depicted	with	galites:	Attention!!!	This	little
theater	claims	that	if	the	triangle	at	C	is	a	rectangle!!!	For	example,	if	the	triangle	in	B	is	rectangled	like	the	triangle	below,	the	theater	or	exclamation	changes	to:	AC2	=	AB2	+	BC2.B'ItRoduction	le	th	\	xc3	\	xa9or	\	xc3	\	xa8me	de	pytagoras	r	\	xc3	\	xa9cuproque	du	th	\	xc3	\	xc3	\	xc3	\	xc3	\	xa9	or	\	xc3	\	xc3	\c3	xc3	xc3	xc3	\xc3	\	xc3	\	xc3	\	xc3	\	xc3
"	Xa8me	de	Pythagoras	is	probably	one	of	those	who	know	the	\xc3\xa9l\xc3\xa8ves	best.	Finally	they	know	the	name,	now	with	\xe2\x80\x9999arts	de	l\xe2	\x80	\x99,	\xe2	\	xa9e	)	allows	us	to	calculate	the	length	and	show	that	\xe2	\	x80	\	x99	and	in	the	turn	\	Xe2	\	x80	\	x94	A	small	reminder	before	we	start:	When	it	comes	to	the	segment	[a],	we
insert	a	hook,	when	it	comes	to	the	length	of	AB,	we	do	nothing	:	AB.	So	if	the	size	of	the	segment	[a]	is	4	cm,	my	\	xc3	\	xa9crira	ab	=	4	cm,	but	in	particular	not	[a]	=	4	cm.	A	a	9nese	is	\	xc3	\	xa9gal	\	xc3	\	xa0	carr	\	xc3	\	x	\	x	\	x8	\	x80	\	x94	OUllalala	qu	\	xe2	\	x80	\	x99	is	C	\	xe2	\	x80	\	x99	It	is	charabia,	say	charabia,	that'	.	
Start	\xc3\xa7ons	from	d\xc3\xa9but:	a	triangle	with	a	right	triangle	is	a	triangle	with	a	right	triangle	xc3\xa8de,	c\x80\x99est-\xc3\xa0-Dire	90\xc2\xc2\\xc2\\	\xc	xc2	\xc2\xc2\xc2\xc2\xc2\xc2.	\xc2	\xc2	\xc2	\x	\xc2	\xb0.	L	\	xe2	\	x80	\	x99HYPOT	\	xc3	\	xa9nuss	is	c	\	xc3	\	xc3	\	xc3	\	xa9	opposite	\xc3	\	xa9	\	xc3	\	xa0	For	this	rectangle.	The	other	two
C\xc3\xb4t\xc3\xa9	are	\xe2\x80\xa6.	The	next	two	C\xc3\xb4t\xc3\xa9s:	Here	\xe2\x80\x99hypot\xc3\xa9nus	is	c\xc3\xa9	ab.	Now	let's	be	honestB	"B'Introduction	le	th	\\	xc3	\\	xa9or	\\	xc3	\\	xa8me	de	pythagore	r	\\	xc3	\	xa9cuproque	du	t	t	t	t	t	t	t	\\	xc3	\\	xa8me	\\	xa9e	th	\\	\\	\\	\\	\\	\	\	It	\\	\\	\\	XA9E	THOM	\	\	\	\	\	this\	\\	\\	\\	\\	\\	\\	\	\	\	\	\	\	\	\	\	\	\	\	\	\	\	\	\	\	\
\	\	\	\	this	\	x99	\	xc3	\\	XA9NONC	\\	XC3	\\	XA9	du	Through	\\	XC3	\\	xa9or	\\	XA3	\\	XA8ME	with	Specifics	with	Specifics	with,	but	Also	R	\	\	XC3	\\	XA9Cupproque	and	Controls	\	\	\	\	\	this\	\\	\	xa9es	that	just	allows	you	to	calculate	the	length	and	show,	\	xa2	\	xa9e)	allow	you	to	calculate	the	length	and	show	that	\	xe2	\	xa2	\	xa9e	)	allow	you	to	calculate
the	length	and	show	that	\\	xe2	\	xe2	\	xe2	\	xe2	\	xe2	\	xe2)	allow	you	to	calculate	the	length.	\	x80	\\	x99	is	a	triangle	(or	no)	rectangle.	AB],	we	put	the	hooks	when	we	place	the	hooks	when	we	place	the	hooks,	when	the	hooks	are	placed	on	the	hooks.	
We	are	talking	about	AB	length,	we	don't	give	it	anything:	AB.	If	the	segment	[A]	is	measured	4	cm,	we	\\	XC3	\\	XA9Crira	AB	=	4	cm,	but	especially	not	[AB]	=	4	cm.	\\	xe2	\	\	\	\	\94	le	via	\	xc3	\\	xa9or	\\	xc3	\\	xa8me	de	pythagoras,	let's	go	back	to	live	object:	L	\\	XE2	\\	X80	\\	X99	\\	XC3	\\	XC3	\\	xc3	\\	\\	xa9nonc	\\	xc3	\\	\\	xc3	\\	\\	xa9nonc	\\	xc3	\\	\\	\\	\\
\\	\\	\\	\\	\\	\\	\\	\\	\	AIT	XA9	du	du	Th	\\	XC3	\\	XA9or	\\	XC3	\\	XA8ME	de	Pytagor	\	\	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	X9	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	X9	\\	X9	\\	XC3	\\	XC3	\\	XC3	\\	X9	\\	X9	\\	X9	\\	X9	\\	X9	\\	X9	\\	X94	X.	Xa9	de	l	\\	xe2	\\	x80	\\	X99HIPOT	\\	XC3
\\	XA9NUSE	is	\\\	XC3	\\	XA9gal	\\	XC3	\\	XA0	SUM	CARRR	\\	XA9S	Other	two	C	\\	XC3	\\	XB4T	\\	XC3	\	\	\\	XC3	\\	XB4T	\\	\\	XC3	\	\\	XC3	\\	XB4T	\\	\\	\\	\\	\\	\\	\\	\\	\\	\	que	xc3	\	\	\	\	\	\	\	\	\	\	\	\	\	\	\	\	this	\	\	\	\	\	\\	XE2	\\	X80	\\	X94	Ooulala	Quine	XE2	\\	X80	\\	X99	is	C	\\	XE2	\\	X80	\\	X99	-	Is	it	Hababia,	say?	Run	\\	XC3	\\	XA7ons	with	D	\\	XC3	\\	XA9But:	A
rectangular	triangle	is	a	triangle	with	a	right	angle	of	XC3	\\	XA8de,	C	\\	XE2	\\	X80	\\	X9est-\\	XC3	\	XA0.	Abet	900	\	XC2	\\	XB0.	L	\\	xe2	\\	x80	\\	X99HIPOT	\\	XC3	\\	XA9NUSE	TO	C	\\	XC3	\\	XB4T	\\	XC3	\\	XA9	Oppos	\\	XC3	\	XA9	\\	XC3	\	XA0	with	this	Rhytm	Agl.	Two	other	C	\\	XC3	\\	XB4T	\\	XC3	\\	XA9	to	\\	XE2	\\	X80	\\	XA6.	Two	othersThis	is	used	at
the	end	of	the	theater	of	Pythagoras:	"spl"	rs	»	and	only	you	will	be	able	to	scream.	A	good	cable	is	very	nice,	but	what	is	it	for?	Well,	let's	take	an	example!	Nancé	is	very	simple:	calculate	the	length	of	this	right	triangle	Kl:	Here	we	are	told	in	right	triangle	not	-n	-n,	the	design	shows	that	the	right	angle	is	M,	so	the	triangle	KLM	is	right	m,	so	d.
Pythagora	Theater:	KL2	=	KM2	+	LM2	=	5,	then	Kl	=	5	cm	(don't	forget	about	the	device!!	Here's	cm,	because	KM	and	LM	are	cm).	As	you	can	see,	cars	are	very	simple!	"A	small	observation:	N.	Remember	that	at	the	end	of	the	calculation	you	can	"remove"	the	bracket	for	another	example:	Calculate	the	length	QR	of	this	right	triangle:	here	we	are
immediately	told	that	the	triangle	is	A	right	angle	drawing	tells	us	that	it	exists	at	a	right	angle.	Taigi	pqr	trikampis	yra	stačiakampis	r,	todėl	pitagoro	heratre:	pq2	=	pr2	+	qr2	mes	Žinome,	kad	pq	​​​​=	15	ir	pr	=	12,	todėl	yra	pakanka	pakeisti:	152	=	122	+	QR2	225	=	144	+	QR2	QR2	=	225	â	144	QR2	=	81	QR	=	â	81	QR	=	9	SO	QR	=	9.	You	notice	that
there	is	no	unity	here.	It	happens,	all	naked.	If	there	is	no	unit:	no	preparation	is	necessary.	cidepodekaroge	On	the	other	hand	there	is	the	individual,	remember	that!!	Follow	these	direct	exercises	to	keep	Pithagora	Theater	on	top!	Remoque	on	the	upper	side	In	addition	to	the	theater	of	Pithagora,	its	inhabitant	has	another	significance:	we	will	show
that	the	triangle	is	right-angled	from	the	triangular	measurements	of	the	basket.	This	is	non-non-non	questioning	theaterBut	we	will	return	to	some	important	points.	

	

Introduction	Pythagorean	Theater	Essentials	of	Theatrical	Exercises	Introduction	The	Pythagorean	theater	is	probably	one	of	those	that	older	people	know	best.	After	all,	they	know	the	name,	now	it's	time	to	advertise	properly.	Theater	(like	Require	and	Invented)	lets	you	calculate	lengths	and	show	that	a	triangle	is	right	angled	(or	not).	A	LITTLE
reminder	before	starting:	when	we	talk	about	the	segment	[Ab]	we	put	a	check	mark,	when	we	talk	about	the	length	of	AB	we	don't	put	anything:	AB.	
If	the	segment	[AB]	measures	4	cm,	we	will	see	AB	=	4	cm,	but	not	[AB]	=	4	cm.	
Theater	of	Pythagoras,	let's	get	straight	back	to	the	heart	of	the	matter:	Nancée	of	the	Theater	of	Pythagoras	is	as	follows:	If	the	triangle	is	a	rectangle,	the	caste	Hypotea	-karon	is	the	sum	of	the	other	two	stones.	Â	oulalala	is	a	cavity	as	these	jokers	say?	Let's	start	with	the	purpose:	a	right	triangle	is	a	triangle	that	has	a	right	angle,	a	90°	angle.	The
hypothesis	is	the	opposite	of	this	right	angle.	The	next	two	Cechure	are...	The	next	two	stations:	Here	is	the	Céc	hypothele.	Now	let's	go	back	to	the	theater	again:	"Karone	de	Lâ	Hypote":	AB2.	"Karke	from	the	other	two	ESCs":	AC2	and	BC2.	"Sum	of	the	rows	of	the	next	two	cards":	AC2	+	BC2.	
And	as	we	were	told	that	Caffè	“©	Galâ”:	AB2	=	AC2	+	BC2.	fasibatewu	The	Pythagorean	Order	can	therefore	be	depicted	with	galites:	Attention!!!	This	little	theater	claims	that	if	the	triangle	at	C	is	a	rectangle!!!	For	example,	if	the	triangle	in	B	is	rectangled	like	the	triangle	below,	the	theater	or	exclamation	changes	to:	AC2	=	AB2	+
BC2.B'ItRoduction	le	th	\	xc3	\	xa9or	\	xc3	\	xa8me	de	pytagoras	r	\	xc3	\	xa9cuproque	du	th	\	xc3	\	xc3	\	xc3	\	xc3	\	xa9	or	\	xc3	\	xc3	\c3	xc3	xc3	xc3	\xc3	\	xc3	\	xc3	\	xc3	\	xc3	"	Xa8me	de	Pythagoras	is	probably	one	of	those	who	know	the	\xc3\xa9l\xc3\xa8ves	best.	Finally	they	know	the	name,	now	with	\xe2\x80\x9999arts	de	l\xe2	\x80	\x99,	\xe2	\	xa9e
)	allows	us	to	calculate	the	length	and	show	that	\xe2	\	x80	\	x99	and	in	the	turn	\	Xe2	\	x80	\	x94	A	small	reminder	before	we	start:	When	it	comes	to	the	segment	[a],	we	insert	a	hook,	when	it	comes	to	the	length	of	AB,	we	do	nothing	:	AB.	So	if	the	size	of	the	segment	[a]	is	4	cm,	my	\	xc3	\	xa9crira	ab	=	4	cm,	but	in	particular	not	[a]	=	4	cm.	A	a	9nese
is	\	xc3	\	xa9gal	\	xc3	\	xa0	carr	\	xc3	\	x	\	x	\	x8	\	x80	\	x94	OUllalala	qu	\	xe2	\	x80	\	x99	is	C	\	xe2	\	x80	\	x99	It	is	charabia,	say	charabia,	that'	.	Start	\xc3\xa7ons	from	d\xc3\xa9but:	a	triangle	with	a	right	triangle	is	a	triangle	with	a	right	triangle	xc3\xa8de,	c\x80\x99est-\xc3\xa0-Dire	90\xc2\xc2\\xc2\\	\xc	xc2	\xc2\xc2\xc2\xc2\xc2\xc2.	\xc2	\xc2	\xc2	\x
\xc2	\xb0.	
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Introduction	Pythagorean	Theater	Essentials	of	Theatrical	Exercises	Introduction	The	Pythagorean	theater	is	probably	one	of	those	that	older	people	know	best.	After	all,	they	know	the	name,	now	it's	time	to	advertise	properly.	Theater	(like	Require	and	Invented)	lets	you	calculate	lengths	and	show	that	a	triangle	is	right	angled	(or	not).	A	LITTLE
reminder	before	starting:	when	we	talk	about	the	segment	[Ab]	we	put	a	check	mark,	when	we	talk	about	the	length	of	AB	we	don't	put	anything:	AB.	
If	the	segment	[AB]	measures	4	cm,	we	will	see	AB	=	4	cm,	but	not	[AB]	=	4	cm.	
Theater	of	Pythagoras,	let's	get	straight	back	to	the	heart	of	the	matter:	Nancée	of	the	Theater	of	Pythagoras	is	as	follows:	If	the	triangle	is	a	rectangle,	the	caste	Hypotea	-karon	is	the	sum	of	the	other	two	stones.	Â	oulalala	is	a	cavity	as	these	jokers	say?	Let's	start	with	the	purpose:	a	right	triangle	is	a	triangle	that	has	a	right	angle,	a	90°	angle.	The
hypothesis	is	the	opposite	of	this	right	angle.	The	next	two	Cechure	are...	The	next	two	stations:	Here	is	the	Céc	hypothele.	Now	let's	go	back	to	the	theater	again:	"Karone	de	Lâ	Hypote":	AB2.	"Karke	from	the	other	two	ESCs":	AC2	and	BC2.	

A	LITTLE	reminder	before	starting:	when	we	talk	about	the	segment	[Ab]	we	put	a	check	mark,	when	we	talk	about	the	length	of	AB	we	don't	put	anything:	AB.	If	the	segment	[AB]	measures	4	cm,	we	will	see	AB	=	4	cm,	but	not	[AB]	=	4	cm.	Theater	of	Pythagoras,	let's	get	straight	back	to	the	heart	of	the	matter:	Nancée	of	the	Theater	of	Pythagoras
is	as	follows:	If	the	triangle	is	a	rectangle,	the	caste	Hypotea	-karon	is	the	sum	of	the	other	two	stones.	Â	oulalala	is	a	cavity	as	these	jokers	say?	Let's	start	with	the	purpose:	a	right	triangle	is	a	triangle	that	has	a	right	angle,	a	90°	angle.	The	hypothesis	is	the	opposite	of	this	right	angle.	The	next	two	Cechure	are...	The	next	two	stations:	Here	is	the
Céc	hypothele.	Now	let's	go	back	to	the	theater	again:	"Karone	de	Lâ	Hypote":	AB2.	"Karke	from	the	other	two	ESCs":	AC2	and	BC2.	"Sum	of	the	rows	of	the	next	two	cards":	AC2	+	BC2.	And	as	we	were	told	that	Caffè	“©	Galâ”:	AB2	=	AC2	+	BC2.	The	Pythagorean	Order	can	therefore	be	depicted	with	galites:	Attention!!!	This	little	theater	claims
that	if	the	triangle	at	C	is	a	rectangle!!!	For	example,	if	the	triangle	in	B	is	rectangled	like	the	triangle	below,	the	theater	or	exclamation	changes	to:	AC2	=	AB2	+	BC2.B'ItRoduction	le	th	\	xc3	\	xa9or	\	xc3	\	xa8me	de	pytagoras	r	\	xc3	\	xa9cuproque	du	th	\	xc3	\	xc3	\	xc3	\	xc3	\	xa9	or	\	xc3	\	xc3	\c3	xc3	xc3	xc3	\xc3	\	xc3	\	xc3	\	xc3	\	xc3	"	Xa8me	de
Pythagoras	is	probably	one	of	those	who	know	the	\xc3\xa9l\xc3\xa8ves	best.	Finally	they	know	the	name,	now	with	\xe2\x80\x9999arts	de	l\xe2	\x80	\x99,	\xe2	\	xa9e	)	allows	us	to	calculate	the	length	and	show	that	\xe2	\	x80	\	x99	and	in	the	turn	\	Xe2	\	x80	\	x94	A	small	reminder	before	we	start:	When	it	comes	to	the	segment	[a],	we	insert	a	hook,
when	it	comes	to	the	length	of	AB,	we	do	nothing	:	AB.	
So	if	the	size	of	the	segment	[a]	is	4	cm,	my	\	xc3	\	xa9crira	ab	=	4	cm,	but	in	particular	not	[a]	=	4	cm.	A	a	9nese	is	\	xc3	\	xa9gal	\	xc3	\	xa0	carr	\	xc3	\	x	\	x	\	x8	\	x80	\	x94	OUllalala	qu	\	xe2	\	x80	\	x99	is	C	\	xe2	\	x80	\	x99	It	is	charabia,	say	charabia,	that'	.	Start	\xc3\xa7ons	from	d\xc3\xa9but:	a	triangle	with	a	right	triangle	is	a	triangle	with	a	right
triangle	xc3\xa8de,	c\x80\x99est-\xc3\xa0-Dire	90\xc2\xc2\\xc2\\	\xc	xc2	\xc2\xc2\xc2\xc2\xc2\xc2.	\xc2	\xc2	\xc2	\x	\xc2	\xb0.	L	\	xe2	\	x80	\	x99HYPOT	\	xc3	\	xa9nuss	is	c	\	xc3	\	xc3	\	xc3	\	xa9	opposite	\xc3	\	xa9	\	xc3	\	xa0	For	this	rectangle.	The	other	two	C\xc3\xb4t\xc3\xa9	are	\xe2\x80\xa6.	
The	next	two	C\xc3\xb4t\xc3\xa9s:	Here	\xe2\x80\x99hypot\xc3\xa9nus	is	c\xc3\xa9	ab.	Now	let's	be	honestB	"B'Introduction	le	th	\\	xc3	\\	xa9or	\\	xc3	\\	xa8me	de	pythagore	r	\\	xc3	\	xa9cuproque	du	t	t	t	t	t	t	t	\\	xc3	\\	xa8me	\\	xa9e	th	\\	\\	\\	\\	\\	\	\	It	\\	\\	\\	XA9E	THOM	\	\	\	\	\	this\	\\	\\	\\	\\	\\	\\	\	\	\	\	\	\	\	\	\	\	\	\	\	\	\	\	\	\	\	\	\	\	\	this	\	x99	\	xc3	\\	XA9NONC	\\
XC3	\\	XA9	du	Through	\\	XC3	\\	xa9or	\\	XA3	\\	XA8ME	with	Specifics	with	Specifics	with,	but	Also	R	\	\	XC3	\\	XA9Cupproque	and	Controls	\	\	\	\	\	this\	\\	\	xa9es	that	just	allows	you	to	calculate	the	length	and	show,	\	xa2	\	xa9e)	allow	you	to	calculate	the	length	and	show	that	\	xe2	\	xa2	\	xa9e	)	allow	you	to	calculate	the	length	and	show	that	\\	xe2	\	xe2
\	xe2	\	xe2	\	xe2	\	xe2)	allow	you	to	calculate	the	length.	\	x80	\\	x99	is	a	triangle	(or	no)	rectangle.	AB],	we	put	the	hooks	when	we	place	the	hooks	when	we	place	the	hooks,	when	the	hooks	are	placed	on	the	hooks.	We	are	talking	about	AB	length,	we	don't	give	it	anything:	AB.	If	the	segment	[A]	is	measured	4	cm,	we	\\	XC3	\\	XA9Crira	AB	=	4	cm,	but
especially	not	[AB]	=	4	cm.	
\\	xe2	\	\	\	\	\94	le	via	\	xc3	\\	xa9or	\\	xc3	\\	xa8me	de	pythagoras,	let's	go	back	to	live	object:	L	\\	XE2	\\	X80	\\	X99	\\	XC3	\\	XC3	\\	xc3	\\	\\	xa9nonc	\\	xc3	\\	\\	xc3	\\	\\	xa9nonc	\\	xc3	\\	\\	\\	\\	\\	\\	\\	\\	\\	\\	\\	\\	\	AIT	XA9	du	du	Th	\\	XC3	\\	XA9or	\\	XC3	\\	XA8ME	de	Pytagor	\	\	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\
XC3	\\	XC3	\\	XC3	\\	XC3	\\	X9	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	XC3	\\	X9	\\	X9	\\	XC3	\\	XC3	\\	XC3	\\	X9	\\	X9	\\	X9	\\	X9	\\	X9	\\	X9	\\	X94	X.	Xa9	de	l	\\	xe2	\\	x80	\\	X99HIPOT	\\	XC3	\\	XA9NUSE	is	\\\	XC3	\\	XA9gal	\\	XC3	\\	XA0	SUM	CARRR	\\	XA9S	Other	two	C	\\	XC3	\\	XB4T	\\	XC3	\	\	\\	XC3	\\	XB4T	\\	\\	XC3	\	\\	XC3	\\	XB4T	\\	\\	\\	\\	\\	\\	\\	\\	\\	\
que	xc3	\	\	\	\	\	\	\	\	\	\	\	\	\	\	\	\	this	\	\	\	\	\	\\	XE2	\\	X80	\\	X94	Ooulala	Quine	XE2	\\	X80	\\	X99	is	C	\\	XE2	\\	X80	\\	X99	-	Is	it	Hababia,	say?	Run	\\	XC3	\\	XA7ons	with	D	\\	XC3	\\	XA9But:	A	rectangular	triangle	is	a	triangle	with	a	right	angle	of	XC3	\\	XA8de,	C	\\	XE2	\\	X80	\\	X9est-\\	XC3	\	XA0.	Abet	900	\	XC2	\\	XB0.	L	\\	xe2	\\	x80	\\	X99HIPOT	\\	XC3	\\
XA9NUSE	TO	C	\\	XC3	\\	XB4T	\\	XC3	\\	XA9	Oppos	\\	XC3	\	XA9	\\	XC3	\	XA0	with	this	Rhytm	Agl.	Two	other	C	\\	XC3	\\	XB4T	\\	XC3	\\	XA9	to	\\	XE2	\\	X80	\\	XA6.	Two	othersThis	is	used	at	the	end	of	the	theater	of	Pythagoras:	"spl"	rs	»	and	only	you	will	be	able	to	scream.	A	good	cable	is	very	nice,	but	what	is	it	for?	Well,	let's	take	an	example!	Nancé
is	very	simple:	calculate	the	length	of	this	right	triangle	Kl:	Here	we	are	told	in	right	triangle	not	-n	-n,	the	design	shows	that	the	right	angle	is	M,	so	the	triangle	KLM	is	right	m,	so	d.	Pythagora	Theater:	KL2	=	KM2	+	LM2	=	5,	then	Kl	=	5	cm	(don't	forget	about	the	device!!	Here's	cm,	because	KM	and	LM	are	cm).	As	you	can	see,	cars	are	very
simple!	"A	small	observation:	N.	Remember	that	at	the	end	of	the	calculation	you	can	"remove"	the	bracket	for	another	example:	Calculate	the	length	QR	of	this	right	triangle:	here	we	are	immediately	told	that	the	triangle	is	A	right	angle	drawing	tells	us	that	it	exists	at	a	right	angle.	Taigi	pqr	trikampis	yra	stačiakampis	r,	todėl	pitagoro	heratre:	pq2
=	pr2	+	qr2	mes	Žinome,	kad	pq	​​​​=	15	ir	pr	=	12,	todėl	yra	pakanka	pakeisti:	152	=	122	+	QR2	225	=	144	+	QR2	QR2	=	225	â	144	QR2	=	81	QR	=	â	81	QR	=	9	SO	QR	=	9.	You	notice	that	there	is	no	unity	here.	It	happens,	all	naked.	If	there	is	no	unit:	no	preparation	is	necessary.	On	the	other	hand	there	is	the	individual,	remember	that!!	Follow
these	direct	exercises	to	keep	Pithagora	Theater	on	top!	Remoque	on	the	upper	side	In	addition	to	the	theater	of	Pithagora,	its	inhabitant	has	another	significance:	we	will	show	that	the	triangle	is	right-angled	from	the	triangular	measurements	of	the	basket.	This	is	non-non-non	questioning	theaterBut	we	will	return	to	some	important	points.	
At	first	glance,	the	selection	of	sequins:	Why	did	we	count	EF2	and	not	EG2	or	FG2?	Simply	because	Cars	is	the	largest	of	3	Cesse	because	we	saw	at	the	Pythagor	Theater	that	the	"lonely"	hypotel	Cesse	is	the	largest.	The	greatest	cleansing	is	therefore	a	ceremony	that	"only"	counts.	Then	it	is	very	important	to	perform	two	more	calculations	!!	In
fact,	in	the	example	we	want	to	show	that	EF2	=	EG2	+	GF2,	CAF	is	a	conclusion,	so	we	do	not	start	with	this	halite,	because	we	do	not	know	if	it	is	true,	we	want	to	show	it.	Therefore,	we	calculate	EF2,	then	EG2	+	GF2.	
Nothing	is	attempted	to	calculate	the	same	level,	CAU	is	what	we	do	in	the	following	example:	conclusion	is	that	the	triangle	is	a	rectangle.	Yes,	but	to	what	extent	???	Well,	in	the	example	of	EF	is	the	biggest	ceremony,	so	the	right	angle	is	the	opposite,	in	G.	So	nothing	prevents	us	from	saying	"So	the	triangle	EFG	is	a	rectangle	in	G	â",	even	better	to
say	the	IT	cafe!	!	Now	let's	look	at	the	repeated	case:	show	that	the	following	triangle	PQR	is	a	rectangle:	PQ2	=	102	and	PR2	+	RQ2	=	62	+	82	PQ2	=	100	and	PR2	+	RQ2	=	36	+	64	PQ2	=	100	and	PR2	+	RQ2	=	100	so	So	PQ2	=	PR2	+	RQ2	So	after	reviving	the	Pythagorean	triangle	PQR	in	R.,	as	you	can	see,	it's	pretty	fast!	Quick	Note:	For	others
we	made	2	calculations	(PQ2	and	PR2	+	RQ2),	but	marked	"A".	And	Cafés	is	only	when	we	finish	the	calculation	and	achieve	the	same	roles	as	we	said	about	this	cavity.	It	happens,	howeverJi2	+	IK2	=	52	+	82	JK2	=	81	and	JI2	+	IK2	=	25	+	64	JK2	=	81	and	Ji2	+	IK2	=	89	Therefore	jk2	â	ji2	+	ik2	is	therefore	not	true	by	the	inverse	Pythagorean
theorem.	As	you	can	see,	it	is	the	same	as	the	other	way	around,	only	that	at	the	end	of	the	calculation	we	realize	that	it	is	not	the	same.	We	therefore	remember	to	use	the	opposite	and	not	-ratio.	And	of	course	the	conclusion	is	that	the	triangle	is	not	regular.	BE	CAREFUL!!	As	well	as	vice	versa,	the	square	of	the	side,	which	we	calculate	separately,
is	the	largest	...	now	that	we	have	treated	the	theorem,	its	opposite	and	its	opposite,	we	can	move	on	to	the	exercise.	These	direct	application	exercises	of	the	Pythagorean	contract	should	help	you	a	lot!	Exercises	Launches	a	page	of	Pythagoras	Theorem	exercise	videos,	click	here!	Back	to	Corsova's	description	at	the	top	of	the	page,	connecting	to	the
community,	creating	the	resources	you	need	and	sharing	her	teaching	experience	with	a	long	history	of	the	matter	and	a	history	of	introductory	work,	p	Exercises.	71-73	The	sun	is	our	source	of	energy	sole	is	our	source	of	energy	topic	P.	
74-76	Preparing	for	the	assessment	of	the	army.	141-143	Earth,	the	single	star	La	Terra,	the	single	star	abbreviation	p.	144-146	Preparation	for	the	assessment	of	ASP	exercises.	193-195	Sound	and	music,	support	for	sound	and	music	remember,	repository	supports	PP	intro	theme.	193-195	Sound	and	music,	memory	support.	
196-198	Preparation	for	the	assessment	of	ASP	exercises.	243-244	243-244	


